fiuaHt-1 paper-2 (organic chemistry)
weld W & forg ersg €T 250-300 &l

1. Explain the hybridization on alkene, alkane and alkyne. (20)

R, T S TERTE § S A AHATE| T ST e Ao

Or
Explain the inductive effect and their applications.Expalin it effect on
acidic strength, basic strength and stability on carbocation and carbanion.

e ST SR SE AT F AHATTAA] A, AT TAT FIG T
T FTd FATAAT H FHH T FT G0ATL |

2. Explain R and S-nomenclature. What is the sequence rule for R, 5-
nomenclature? (20)

R, S ATHHII qUT I&+ AHA e 1 quamy |

Or
Explain geometric isomerism with examples. What is the E, Z-

nomenclature?

sTfrdiT gaTaaar & aHETSY | 589 forg E, Z-ATHr & | qaHaATey |

3. Explain conformations in cyclohexane and draw energy diagram. (20)

R #f AT A FHETEY T It e o AT |

Or
Explain Baeyer’s strain theory with examples. Explain banana bondin in

cyclohexane.

FIT F qT AT FY IS IHF AHATEY | FAA ST § HeAT a9 Fy
qaETY |

4. What is the addition reaction? Explain Markovnikoff’s addition reaction
mechanism. (20)
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AT ST i Fgd &) wretReTs FrTeR s A Bt
FT qHATEY |

Or

What is the peroxide effect? Explain the reaction mechanism of anti-
Markovnikoff's addition reaction mechanism.

FUA-T9TT 7 g7 &1 Taeht rarfafer & e Ao |

. What is aromatic electrophilic substitution reaction? Explain nitration,
alkylation and acylation reaction. (20)

Eﬁﬁ'ﬁ' a@ gfaeaTa fSfaar 1 5= & a9=5E3 | nitration, alkylation
and acylation reaction &I FHATY 1(20)

Or

Explainn ortho-para directing effect on benzene.

argt-A Rerers a9g i ww ST |
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Govt. Digvijay Autonomous PG College Rajnandgaon

Department of Chemistry

B.Sc. 1*" Year

Paper -IT1 (Physical Chemistry) M.M. 100

Note:- Attempt all the five questions, selecting one question from each unit.
Each unit has 20 marks

Unit—1
Q1 (A) 3Tegg 4T 87 3TE0T & 1Y 3e7eh TN fordd |
(B) TfE wetet f (x) = 2x°>- 3x%-36x + 14 g At 3Rass 3k AfEAss 7d FT
(A) What are matrixes? Write their type with example.

(B) Find the maxima and minima if function fix) = 2x*- 3x%-36x+14

Or (HYam)

(i) F=ITARRT Foret #71 x & \Tder TAeT AR
(A)x.e® (B) logx
(ii) A= f@a Bo 1 x & aner sgFaT A
(A) x.logx (B) e¥/x’
(i) Integrate with respect to x of following function-
(A) x.e® (B) logx
(ii) Differentiate with respect to x of following function —

(A) x.logr (B)e¥/x’
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Unit -2
Q.2 rmm-rmﬂvmmhm-rmmwwﬁaﬁm

sﬂﬁﬂaz#mmﬁmwa:wmﬁma#

What is Vaan-der waals gas equation? Establish van-der wag|s e

of real gases with help of this.

volume and write their correlation.

(B)m#ﬂﬂvm%ﬁa‘:m#%mwﬁml

Explain in detai] of Kinetic molecular theory of gases,

Unit-3

» Optical and Electrica| properties of
colloidal solutjon.
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Or (3YdT)

(A) AT F IRART | eametar & FrefRor & v fedr o Ry
& quIT FY|
Define the Viscosity. Describe the any one method for determination of viscosity.

(B) 58 Tea &I aRATRT | 756 aaa & faeior & v g R R
FT JUIT F{|

Define the surface tension. Describe the drop-weight method for determination of surface

tension,
Unit- 4

Q. 4. =1 gy feegufy ﬁ@'ﬂ’-(Wrilc short notes on )
(A) GTdTel Y IRATAT &1 &THF (Law of rational indices)
(B) AT 0Tt I RBURAT &1 37 (Law of constancy of interafacial angles)
(C) fAeR grdis va Eﬂéﬂ ETdTe (Miller indices and Weiss indices)
(D) GAATY & Tca (Elements of symmetry)

Or (37aT)

(A) Mo FeAT fFE Fed £ 505 THR 1 faFqa aviw Aoy

What are lattice defects? Describe its type in detail.

(B) #77 gAEOT & QT qur g Hife

Write and prove the Bragg'’s equation,
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Unit- 5

Q5. (1) HBTRT B B By F5 & 3 & PR 7T T B A

Taftrt 3 o R | e 41 R & Freior 91 o s R @7 avh
A

What is the order of reaction? Write the name the different methods of determining the order of

the reaction. Describe the half-life method of determining the order of reaction.

(BJWWW??WW@WW#HWW

What is catalysis? Explain the difference between homogeneous catalysis and heterogeneous

catalysis,

Or (3Yyam)

(.A)Hﬁ#ﬁ:m#arwmwmmqsm%wﬁmmwmﬁa
m@mﬂﬁ#l;ﬁ%@ﬂfﬂmﬁ?#mmﬁmmm

What is the effect of temperature on rate of reaction? Derive integrated form of Arrhenius

equation. How can activation energy be calculated from this equation?
{B}MWWﬁmxﬁvaﬂwmﬁmam%y%
T 8 & fraer waEw

HiRfrar

How long will it take to complete 99.9% of the reaction if the

half life is 20 minutes for g first-
order reaction?
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